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Simasg elamss@Esd sflurs ufleurd o aTaTsT eTaTLSDEN efluTgg)&
Qarerarajb. sFsLLSdD Genulmudear Senm sargrenfliumearflib
o L angwns Ggifleflésa, .
(2) Beon Sdeg s®HUY @wullamer wLHCW a@gmgg’)@d}
@iy 56T ReusHEh Lwau®ss Caam®b. ULBSE uofausDE
Quendled LwaTU(HSSELD.

Sidleyemraer : (1)

Instructions : (1} Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

u&Sl - 1/ PART - 1
@GPl : (i) Sewergg elamés@rsEh aloLwaléseb. 15x1=15
(i) Qar@astiul@erar wrHn e safled Weabd ghymLw eleawsd
CaibsBhsgs GHULHrer el wlamanyn Garégg er(pseaw.
Note: (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1. Gswpens y&len eramug) :
(1) 1AA (<) IBA (@) GA () NAA

One of the synthetic auxin is :

(a) IAA (b) IBA (c) GA (d) NAA

2.  LEIBESE FIATE QTS Qevanba m AsTEUILNSS sTamiUbeaugl :
(=) vsGanmeniegwid (<) Agrdlafafiien
() Senmamran () Qumrellafiwid

Pollen grains are fused together as a single mass called as :

(a) Gynostegium (b) Syngenesious
(c) Synandrous (d) Pollinium

3. Qe QaraTenssEE @ elflelass.
(1) UEpane (<) urdeflum
(@) erw&Casmlermeviom (/F) emeureL

I

is an exception to Cell Theory.
(a) Fungi (b) Bacteria

(c) Mpycoplasma | (d) Virus

Kindly send me your answer keys to our email id - padasalai.net@gmail.com
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4. urdefluread gréd DPEGLD eneurey :
(=) swGanmsumgy (<) LmteAGWmsoLIme
(@) Geourg () ewsCEHTs LM
Virus infecting bacteria are called :

(a) Cyanophage (b) Bacteriophage

(c) Zoophage (d) Mycophage

5. BSen@w Lucuurtg gaflow gl ?

(1) ST (<) LITGVLIFGD
(&) epLrge (F) QumlLrélwib

The element which is not remobilized ?
(a) Calcium (b) Phosphorous

(c) Nitrogen (d) Potassium

6. dAmarsareadld wimib Hrie sppdileer Qoans@b Gaiob :
(=1) S8l ewLed CoA (=) &ésﬁeuﬂés Sjfleid
(@) ALfé sdlewd () evuiedld Sflewd
The compound which links Glycolysis and Kreb cycle is :

(a) Acetyl CoA (b) Succinic acid

(c) Citric acid (d) Pyruvic acid

A [ Hwuiys / Turn over
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7. QemepCrmil whpb Qeuasryearall GpiriinEnsh@ WHhHEHTH LB Sreug
(e2y) Qampradwir Ganfledls-Gumredwm
(<=1) @engGam@ur g1 Gumflwr
(@) Qwpigwir GorGermev@uiiiom

(m) HaverCumilwr QuiGearadlwim

The plant used in leprosy and leucoderma :
(a) Psoralea corylifolia
(b) Indigofera tinctoria
(c) Butea monosperma

(d) Clitoria ternatea

8. CrmCLm.enudlufen Calliiy Qummer :

(=) swCarms.enuliLien STaLD (=) o oL1Germifliqwies SyaLd
(@) uryrenleTe S (F) Sr&

The storage product in Rhodophyceae is :

(a) Cyanophycean starch (b) Floridean starch

(c) Paramylon starch (d) Starch

9. @aasgee (phHelmss gL sreuy anriGorer ergl ?
(1) SL8AE Sfubled (<2) 2p&Hadlen

(@) gl _GLrengaflen () s

Which plant hormones induces closure of stomata ?

(a) Abscissic acid (b) Auxin

(c) Cytokinin (d) Gibberellin
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10. &pssariapile sflwner sapeopd Caihlshbaan.

11.

12.

() Cauignellaer L CasanTd «opag).

(<) weorGambaer, sefladr wppib efamssdr Lrajashe o-gel Lfldlamear.

(@) slieTnd slaL algel ariy Qedsd Gmellag Gaomws Hreurmigafla

sravuu@Slepar.

(7) Qeessoasda @eaowda EpLupsGsrma oL GopuypsGamalew 3P

aanesflEaaulley o ererer.

Pick out the correct statement from the following :

(a)
(b)
()
(d)

Root hairs are multi-cellular.
Trichomes helps in dispersal of fruits and seeds.

Dumb-bell shaped guard cells are seen in Dicots.

Stomata are seen more in the upper epidermis than the lower epidermis.

Qeauismugdlar Q5 Gemplwim

(1) eflwd Fur

(@) Lrése GrmLT

(<) edlwid FlenLaid

(FF) grLEme FLenLeuay

The binomial of Onion is :

(a)
(c)

Allium cepa (b) Allium sativum

Daucus carota (d) Raphanus sativus

g 2ds Hevasgerenno uhn RNA ?

(<=1) tRNA (<4,) dsRNA (@) rRNA (rF) mRNA

The most stable RNA is :

(a)

tRNA (b) dsRNA (c) rRNA (d) mRNA

[ HwLys / Turn over
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13. sLeL eremug)
(1) Qrewrmb Hleney engevid (<=),) @) FeRTLTLD ;_F;]emeu LGarmutd
(&) Qramimd Qo sdliser () @rawmb Hleve Lpeni]
Wood is : |

(a) Secondary Xylem (b) Secondary Phloem
(c) Secondary Medullary rays (d) Secondary Cortex

14. Gse spnélulder sflwrer eufleans :
(1) G -5-G,-M (%)S'M'Gl'c’z
(@) M-G,-G,-S (F) S-G,-G,-M

The correct sequence in cell cycle is :
(a} GI-S'GQ‘I\'i (b) S"M‘GI‘GFQ

() M-G-Gy-S (d S -G;-G,-M

15. Spssamaupmer gflurer Gameamaws CaimtsHEse .

(1) séamafiuden FlpwmHmLD - el lger
(=) safllser LSS / - &Cprlgermi®
(®) Qeraullan wEpseT HiPLD - uFeEWLd

() @eeufar HpwrHpLd - oaGsmSear
Pick out the correct pair.

(a) Change of Fruit colour in Tomato -  Lutein

(b) Fruit ripening - Carotenoids
(c) Yellowing in Leaf - Chlorophyll
(d) Change in Leaf colour - Lycopene
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Lu@d - 11 / PART - 11

GOLY : amaCuein spm dlamssEnse w @b olewealssab. elearm eram

24-8(g sLLmuwns e wefldsHea, L. 6x2=12

Note : Answer any six questions. Question No. 24 is Compulsory.

16.

17.

18.

19.

20.

mastsasaian Gurgl udmysd gCsayb Greamymar orWsis.

Write any two general characteristic features of Lichen.

WenrGuims.enUL &6 aUTeGOSHESSFDD LeUTH STEUFRIEET eTa DDPSSLILLE

SITTETLD GTEe ?

Why Bryophytes are called Non-Vascular Cryptogams ?

e AHESMLE — UMFIWMIESELD.

Define Phyllotaxy.

&rBassTeflen LLb auamrhg UTEhgmeTs &Dl&Ese, .

Draw the diagram of stamen and label its parts.

Lre@rm Qi Lé sreuy wafler GS8rsams erpgis.
Write the floral formula of Datura metel.

[ sliys / Turn over
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21. GermevGurQLevGLLLT erepred ererer ?

What is Plasmodesmata ?

22. Qs SpHE - QUGWMIS&E,LD.

Define cell cycle.

23. @PLIRET HEED — uUmESaLD.

Define Denitrification.

24. plusefiGurens® wHmib FlusaiCureaL® Caupubsss.

Write the differences between Nucleoside and Nucleotide.

Li@S) - I / PART - III

GOl : semauBueybd opm elamsEnsE LG elamLwellésalb. eflan eram
6x3=18

33 -8 sLLmuwng eleLwelésa)b.

Nofe : Answer any six questions. Question No. 33 is Compulsory.

25. auemsliurigwéd winb Guluflarmo amsiuriiyud - Caunubsss.

Differentiate Taxonomy and Systematics.

26. BrmefliGurédlen QUANGSET WITEnal ?

What are the different types of Transpiration ?

27. o gmeler uaflaamerl UL iqwedl (.

List the functions of Nucleus.
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Gy jﬂ@?mﬁ”.ﬁ’@ e «‘ﬂ{nl @)[ﬂl‘,n] H(MH,

Give an account of G, Phase.

ay@walLddar @il QU bEHHaeNa auamasmer ULLD aamihg LTELD

GDEHELD.

Draw and label a diagram to show the different types of meristem based on their
position in the plant body:.

velp GeurseT erammmed eretmen ? TRSFHEETLH (M.

What is Coralloid root ? Give an example.

yeuyé deglaieniw, yasrbLé Qsdonn @mure wei PPEDWLTET BHSHIS O,
g;eoﬂgg, Levedleul L Lb, safldss eeleul L, Gl L§ @snasl_]“mu QarerL wevfle

e Gadlrsdear er(pgs.

Find out the floral formula for a bisexual flower with bract, regular, pentamerous,
distinct calyx and corolla, superior ovary without bracteole.

yepeng Couflaaflen waslwsgleumtiser eraneuGuanid ppandlanend @GmUA{Hs,

Write any 3 importance of Mycorrhizae.

dlylia spnd QrieL Haped satew ey g6 SmpssiiL@dng ?
Why Krebs cycle is called as ‘amphibolic pathway’ ?
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@S - IV / PART - IV
@UILY : Sjemengg) elleimdas@ns@n eNewalldsai, SAS"ZD

Note : Answer all questions,

34. (=) smHRESLLEGD @arssl oL sEh QoL Guura Caugurbamar TsI®:
D{VEVG
(<) Oprélsefiear LT semaTts UL w6l (.

(a) Write the differences between Sap wood and Heart wood.

OR

(b) List out the properties of Enzymes.

35. (=) QuemGLrmey osumevCul aufissLsdar wéHwsgiusamss GHILEGS.
| {60605
(=) erCopmsens efaté@d UTLED greursdler Cargamanenwl HletdEEs.
(a) Mention the significance of Pentose Phosphate Pathway.
OR

(b) Explain with an experiment to prove Ascent of Sap with Balsam plant.

36. (=) s gaflursvufsreard wHmb swor gaflurduflsremd CaumuBsss.
S{6060F
(=) seriaadlen aimpsmss apHiaw eumrs.

Differentiate ~ Cyclic ~ Photophosphorylation and  Non-cyclic
Photophosphorylation.

(a)

OR

(b) Draw the life cycle of Agaricus.
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-alfleir enotiyy wpmid Lenllaenar eflerdEs.
S|V
() @sLCLrens e cn aumpeied eflenera saner 6T (pgis.

(a) Explain the Structure and functions of different types of RNA.

OR
(b) Write the Physiological effects of Cytokinin.

6032

() eoplrgen Hoafinsssfo op CrrfGaa Gprdlear uhdamer

elleufi&seyib.
3160608
() devar  CLmflur QLiCarafurelar wei LETLG®aT 6lariEs.

(a) Write the role of nitrogenase enzyme in nitrogen fixation.
OR

(b) Give the floral characters of clitoria ternatea.
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